	Вариант 1

Напишите, что напечатает следующая программа:

Задание 1

program vlzl;

var a,b:integer;

procedure f1 (x,y:integer);

begin

y:=2*x+3;

end;

procedure f2 (var x,y:integer);

begin

y:=3*x+1;

end;

begin

a:=1; b:=3;

f1(a,b);

writeln ('a=',a,'b=',b);

f2(a,b);

writeln ('a=',a,'b=',b);

end.
	Задание 2

program v1z2;

var a,b,a1,b1: real;

procedure sd (x,y:real; var p,q:real);

begin

p:=(x+y)/2;

q:=(x-y)/2;

end;

begin

a:=2; b:=-4;

sd(a,b,a1,b1);

writeln ('a=',a,'b=',b,'a1=',a1,'b1=',b1);

sd (a,b,b1,a1);

writeln ('a=',a,'b=',b,'a1=',a1,'b1=',b1);

sd (b,a,a1,b1);

writeln ('a=',a,'b=',b,'a1=',a1,'b1=',b1);

end.

	Вариант 2

Напишите, что напечатает следующая программа:

Задание 1

program v2z1;

var x,y:integer;

procedure p1 (var a,b:integer);

begin

a:=sqr(a);

b:=sqr(a)+a;

end;

procedure p2 (var a,b:integer);

begin

a:=sqr(a);

b:=sqr(b)+b;

end;

begin

x:=2; y:=2;

p1(x,y);

writeln ('x=',x,'y=',y);

p2(x,y);

writeln ('x=',x,'y=',y);

end.
	Задание 2

program v1z2;

var a,b,a1,b1: real;

procedure sd (x,y:real; p,q:real);

begin

p:=x+y;

q:= x-y;

end;

begin

a:=1.2; b:=2.0; a1:=2.0; b1:=1.0;

sd(a+0.8,0.5,a1,b1);

writeln ('a=',a,'b=',b,'a1=',a1,'b1=',b1);

sd(0.6,b,a1,b1);

writeln ('a=',a,'b=',b,'a1=',a1,'b1=',b1);

sd(a-0.2,b/2,a1,b1);

writeln ('a=',a,'b=',b,'a1=',a1,'b1=',b1);

end.


